®
: PRE-VENT :

SHER S EFRITHAEP/RRTI

R A

SEEE S EENITIE P/RARS N AEEH ETEET RN Tk
B HFEE LRS-

P/RAZIA AT =Fg it Al ik 3%

() PER.  IEtEA (RFF)

(2) R RfEA (58X

(3) PNE  IFERHEFR

(5) RNZ  RIEMAHFE

T

® EREMABEEE TSI LR, BEEETUERAE
INRIRA SRR, Tt hK, EEE

© FFNBMEZEFIENNEAEXR, FENEGIERTE

O HENHETIER, BEENTURRSEREIERE

® ARETERFR, WEFR, JFREZFHESHEMS, R
X, WIBRER, Z@AME, PR, CEERSEEMMT

® SBENEN, BE

® FFUN, EER

RS

PREESEE: 20~100 kPa; 40~120 kPa; 60~140 kPa - 3R %
40~200kPa; 80~240 kPa; 120~280 kPa - 61R58 %
180~380 kPa - 12435

B ARIEESI: 400 kPa
T{EEE: -40~+80°C
HIHRE: 5X98%

[cm?] [mm] [kPa]
250

20 1~6
400
630 20;38
1000 38;50; 63 ~7

194

Diaphragm multi-spring pneumatic actuator type P/R



RTHMES

53

UL

L4 4

Gt ——

[}

= |}
a
g, —
A Q
250 110 31 18 112 240 295 M12 22 306 250 10 14,5
4 2 1 86 2 12 | 462 16 | 20,
00 132 | 39 0 6 306 mie |28 |3 6 M12x1,25 6 |205
630 2 134 375 305 28 402 552 30 37
1000 216 50 210 135 477 450 M24 42 585 815 M16x1,5 74 100
s 1
ERIR
Spring range [kPa]:
20...100 1
Type: 40...200 2
- direct action: P 40...120 3
- reverse action: R 80...240 4
- direct action,handwheel: PN 60...140 5
- reverse action,handwheel: RN 120...280 6
180...380 7
Size: 250 Stroke [mm]: 20
400 38
630 [— 50
1000 63

Examble of the broduct code:

1195



4 PRE-VENT -

SHBERSBERITHIEP1/R1RT

R A

SEERZHERITIG P1/RI RSN BERFETEATRIME T
S EMFEEEMH R
P/RRFIB AT =TT A ik
(1) P&l EER (85
(2) RE! REA  (85X)
(3) PI1BE  [FIEH®HFH
(4) R1BE  RIEATF#

Tt

O EREAFAHFEEREMAHEAUKIER, BETETUMETFE

© NN SR RE MK, SEEE

® FRUBMEFIENALEXR, BRANEIERATE

O HENHETLIER, BREENTURREEILE

® ARETEBFI, MEFHR, SFHhRMEMESHEMS, RAUFF
X, WIREER, =BEEE, PUER, LBERIFFNT.

® SEENEN, HE

® RN, EBR.

RS

SEEESE ! 20~100 kPa; 40~120 kPa; 60~140kPa - 3iRagE
40~200kPa; 80~240 kPa; 120~280 kPa - 61R3# %
180~380 kPa - 121R3E %

B KSIRIE S 400 kPa
T{EERE: -40~+80C
HXHEE: 5X98%

[cm?] [mm] [kPa]
400 20 1~6
630 20;38
1000 38; 50; 63
1500 38; 50; 63; 80; 100 =7

3000 50; 63; 80; 100

196

Diaphragm multi-spring pneumatic actuator type P1/R1



RTHEE

DIMENSIONS AND WEIGHTS
B
NPT 144"
400 453|305 | 127] 100 57,15 17,7 | 255 | M12x1,25 E
17.7 M12x1,25 =20
i , — .
630 548 | 375 | 127] 107 PYRE s 280 M6 = _‘ %g
= ! J
57,15 177 M12x1,25 e::.j>
1000 | 773|477 | 153| 90 340 | m16x1,5 lizeagk
84,15;9525 | 22,5 M20x1,5
5715 17,7 M12x1,25 < 7
1500 | 833|550 410 | M16x1,5 - — 4R
184| 102 | 84159525 |22,5 M20x1,5 g /,
3000 |1138] 550 84,15;95,25 M24x1,5 /
TS
] .
| E
D
1000 85 105
1500 120 150
3000 225 255
> |
kB K
L L — |
Type: Connection thread:
- direct action: P1 M12x1,25 12
- reverse action: R1 M16x1,5 16
- direct action,with drive: P1B M20x1,5 20
- reverse action,with drive: R1B
Spud diameter [mm]:
Size: 400 57,15 57
630 84,15 84
1000 95,25 95
1500
3000 Spring range [kPa]:
Stroke [mm]: 20 20...100 1
38 40...200 2
50 40...120 3
63 80...240 4
80 60...140 5
100 120...280 6
180...380 7

197



4 RE-VENT.
SI;EREFARITNFEPRARS

R A

SHAEERITIEATERE, FRMEMEERR], BATIESE
IR AE B E T %o

PREFIB AT EMIZIT A LR

(1) PRSE!  E{EH

(2) PRDE XfEH

Tt

O UEERE(2) RENamurkr g F B PRE-VENTSATHITEE, FF REMELRE.

0 SHRE, BRERESS(15umL L) EHH(2) s8R ER, RiTam BN ™5 L1
1, HFEISO5211 % DIN3337iRM, EIT;E'E%%.“«PE%UR#&X%%MEEEE%E%
LK.

® FEBESIAEQ)RABEREMLEEOUMEL L), REFIEMFR/IMUEESH
REERR, JRATIRMRIEIRANE, PTFE(RME 2 RERIREM IR R E LR,

® = (4)FEREREERAE (80umpl k) EHEE2inERHthiEmMae,
HATIR R A B R PTFER ER R AL,

0 SHEEFEREREMLECOUMIL L) EHEEESEEO)RESRETHBLS
MR, XFeH R IR SRR E R H .

® FRETRIET £5° ARKNEBRRES HEFRMIINBITIZIRM (6)K -

© SMHRERE(7)RABFLETEM, MEXRFRELERIPRIENIRE.

® HEESER(S)FAMASAMRHRHRER, SRhEMRFERE®.

® ZHEO)EEEIEXMTERATRERE, R KR RASESZER(Viton)s
S THE% R (HNBR).

BERESH

KBESERE: 2~8 [BarlWIExISE; 3~ 8 [Bar] ez <AL

THERE: #0f(TRE&E):-20°C(-4F) ~ 80°C(+176F)
OB (S THE#AR): -40°C(-40F) ~ +80°C(+176F)
B35 (FAZER): -15°C(+5F) ~ +150°C (+300F)
FE MFRERSRIASHNE, HHEmH2 UM,

HESERE: HAEEEMINMEI3920Nm (6barSEE /1 T)

TENR: MASARETTEHIDBEINES, FESBERESE. K. BERES, SATFTRANT
#3430y m

ITIRIATSERE: 0° B90° £5° FRAERTERE

Ed| i Fﬁﬁf@xﬂ*‘ﬁ# &R B LU N S LR RS &

M & mREESHERIET, HERTFERREIMER

EEAN: —LﬁIrE%B EIEIRARISO 5211/DIN 3337454, FRRANDHE O R SURLTR SRR kAR VDI/VDE-3845, NAMUR
ol

e M S-ASEAL BHHEE TR, TRURIERIER 8D #£1,000,0000% M

198

Rack and pinion pneumatic actuator type PR



PIERRET{ERE

R $T 7718

EHE=SHAORA, X246

EEEMRTEBE, L

WSS R, FORENE
=S HBAHEL .

BIERRELTIERE

R ET 7718

Iz

| S S—
At de

EH=SHBARBA, FEX4E

TEEEMER T EBE), it

PREt T AR, FIEENE
M= SHBOHE.

I F 73 Ta]

KK, BTHENE
RAEEEEAR OB, it
RSt E%sn, =SEAQ

A
WGBS $1 77 150
(B
]
\& {fn

EH=SEABAKA, £XA

BEEPOHT AR,

IRAS 75 B, FiEZE R E
M=SHA QHH.

1 bt

2 %

3 g5

4 S

5 AR

6 EE

7 BE

8 i 2 AT B
9 i = iR
10 i

11 TEEhR
12 TEEREE
13 TEES AR
14 FHPRE
15 AT IRRIRE
16 TR
17 ATEREHE
18 i E
19 i
20 R

21 EfIEHR
22 D

23 TR
24 THZ B
25 2=k

199



PREJISN G4 5 F AT

FRIBEER S RS R SR E R E R
RS
0%
Oe0
o] | e
B E
7iRBS SiR
iR 10tRzE
ol 2N
D
114R38 124R38 5

2 O O ‘ Rack and pinion pneumatic actuator type PR



BIEAMITR-EER (Nm)

6 4.8 75 7.7 5.0 11.3 8.6
7 5.5 8.7 6.5 33 105 73 145 1.3
8 6.3 9.9 97 6.1 13.7 10.1

PRS-052 9 7.1 1.2 8.9 48 129 8.8 16.9 128
10 79 124 8.1 36 121 7.6 16.1 11.6 20.1 15.6
1 8.7 13.6 73 24 1.3 6.4 153 104 19.3 144
12 9.5 149 10.5 5.1 14.5 9.1 18.5 13.1
5 6.8 104 149 1.3 221 18.5 29.6 258
6 82 125 135 9.0 208 16.3 281 237
7 9.6 14.6 12.0 6.9 19.4 14.2 26.7 215
8 10.9 16.7 18.0 12.0 253 19.3 326 26.6

PRS-063 9 123 189 16.5 9.9 239 17.2 31.2 245
10 13.7 209 153 77 226 15.0 29.9 223 37.2 296
1 15.0 229 13.8 5.6 211 129 284 20.2 357 275
12 16.4 25.0 19.7 10.7 27.0 18.0 343 253
5 10.5 16.3 245 18.8 36.1 304
6 12.7 19.5 223 15.5 339 271
7 14.8 228 20.2 123 31.8 239

PRS-07S 8 16.9 329 29.7 20.6 414 323
9 19.0 37.0 27.6 174 393 29.1 50.9 40.7
10 21.1 41.1 255 14.1 37.2 258 48.8 374 60.5 49.1
11 232 452 234 10.9 35.1 226 46.7 342 58.4 459
12 253 493 33.0 193 44.6 309 56.3 426
5 14.8 20.6 28.1 223 423 36.5
6 17.7 247 25.1 18.1 393 323
7 20.7 288 36.4 28.2 50.7 425
8 236 329 334 24.1 47.7 384

PRS-083
9 26.6 37.0 30.5 20.1 44.8 343 59 485
10 295 41.1 27.5 15.9 41.8 30.2 56 444 703 587
11 325 452 389 26.1 53.1 40.3 67.4 54.6
12 354 493 359 220 50.1 36.2 64.4 505
5 23 33.0 446 34.7 67.1 57.2
6 276 39.5 40.0 28.1 62.5 50.6
7 322 46.1 579 440 80.4 66.5
8 36.8 52.7 533 374 758 59.9

PRS-092 9 414 593 487 308 712 533
10 46.0 65.9 44.1 242 66.6 46.7 89.2 69.3 m 91.8
1 50.6 725 62.0 40.1 84.6 62.7 107 85.2
12 55.2 79.1 574 335 80.0 56.1 102 78.6
5 31.8 493 66.0 484 98.6 81
6 38.1 59.2 59.6 385 92.2 711
7 445 69.0 85.9 613 118 93.9
8 50.8 789 79.5 514 112 84

PRS-105 9 57.2 88.7 732 416 105 74.2 138 106
10 63.5 98.6 66.8 317 99.4 64.3 132 96.9 164 129
1 69.9 108 93.1 54.4 125 87 158 119
12 76.2 118 86.7 44.6 119 77.2 151 109

201



PRESI N EH I F INITHAL

BIEAPITRE-HIER (Nm)

5 525 86.3 121 87.0 179 145
6 63.0 103 110 70.0 168 128
7 735 120 158 110 215 168
8 84.0 138 147 93 205 151

PRS-125
9 94.5 155 137 76 194 134 252 191
10 105 172 126 59 184 116 242 174 299 232
1 115 189 173 99 231 157 289 214
12 126 207 163 82 221 140 278 197
5 86.0 129 174 131 261 218
6 103 154 157 105 244 192
7 120 180 227 166 314 253
8 137 206 209 141 296 228

PRS-140
9 154 232 192 115 279 202 366 289
10 172 258 175 89 262 176 349 263 436 350
1 189 283 245 150 332 237 585 324
12 206 309 228 124 315 211 402 298
5 139 192 258 205 390 337
6 167 231 230 166 362 298
7 195 269 334 260 467 393
8 223 308 306 221 439 354

PRS-160
9 251 346 278 183 411 316 543 448
10 279 385 250 144 383 277 515 409 647 541
1 306 423 355 239 487 371 619 503
12 334 462 327 200 459 332 591 464
5 200 320 440 320 653 533
6 240 384 400 256 613 469
7 280 448 573 405 787 619
8 320 512 533 341 747 555

PRS-190
9 360 576 493 277 707 491 920 704
10 400 640 453 213 667 427 880 640 1093 853
1 440 704 627 363 840 576 1053 789
12 480 768 578 982 800 512 1013 725
5 275 440 604 439 897 732
6 330 528 549 351 842 644
7 385 616 787 556 1081 850
8 440 704 732 468 1026 762

PRS-210 9 495 792 677 380 971 674 1264 967
10 550 880 622 292 916 586 1209 879 1502 172
1 605 968 861 498 1154 791 1447 1084
12 660 1056 806 410 1099 703 1392 996
5 410 685 969 694 1428 1153
6 492 822 887 557 1346 1016
7 574 959 1264 879 1724 1339

PRS-240 8 656 1096 1182 742 1642 1202
9 738 1233 1100 605 1560 1065 2019 1524
10 820 1370 1018 468 1478 928 1937 1387 2397 1847
1 902 1507 1396 791 1855 1250 2315 1710
12 984 1644 1314 654 1773 1113 2233 1573
5 560 960 1379 787 2025 1625
6 672 1152 1267 787 1913 1433
7 784 1344 1801 1241 2446 1886
8 896 1536 1689 1049 2334 1694

PRS-270
9 1008 1728 1577 857 2222 1502 2868 2148
10 1120 1920 1465 665 2110 1310 2756 1956 3403 2603
1 1232 2112 1998 1118 2644 1764 3291 2411
12 1344 2304 1886 926 2532 1572 3179 2219

2 O 2 ‘ Rack and pinion pneumatic actuator type PR



SUERSELAHAER

PRD-032 46 6.1 76 9.2 10.7 122
PRD-052 12.0 16.0 20.0 240 28.0 32,0
PRD-063 217 289 36.1 434 50.6 578
PRD-075 35.0 46.6 583 69.9 81.6 93.2
PRD-083 42.8 57.0 713 85.5 99.8 114.0
PRD-092 68 90 113 135 158 180
PRD-105 98 130 163 195 228 261
PRD-125 173 231 289 347 404 462
PRD-140 261 348 435 521 608 695
PRD-160 397 530 662 794 927 1059
PRD-190 640 854 1067 1280 1494 1707
PRD-210 880 1173 1466 1760 2053 2346
PRD-240 1379 1839 2298 2758 3218 3677
PRD-270 1939 2586 3232 3878 4525 5171
PRD-300 2310 3080 3850 4620 5390 6160

R4%

J
T <o =
f ; § =
L ﬁ Q (] -
+
- \
[
{J\ "
0 I o 7= 8 X B 5
! l}( i
H ¥ L ;
1

M5-8

4%

#10-32UNE —1

o
o

1/4"

MB-10
4X37F -20UNC

Ly
=T

1/2" NAMUR

203



PREJI S H5 5 F T

HER~T%:
[2s [a [ ol clole e lo n v w [amfmw]s [«]c]ulcm]

PR-032 110 45 45 65 225 225 12 50 25 9 - - FO3 - M5*7.5 - 1/8"
PR-052 153 72 65 92 30 M5 14 80 30 n 182 225 FO5 FO3 M6*10 | M5%*7.5 1/4"
PR-063 174 88 72 108 36 47 18 80 30 14 216 266 Fo7 FO5 M8*13 | M6*10 1/4"
PR-075 196 100 81 120 42 53 20 80 30 14 232 282 FoO7 F05 M8*13 | M6*10 1/4"
PR-083 208 109 92 129 46 57 21 80 30 17 245 304 Fo7 FO5 M8*13 | M6*10 1/4"
PR-092 249 17 98 137 50 58.5 22 80 30 17 303 386 Fo7 Fo7 M8*13 | M6*10 1/4"
PR-105 278 133 110 153 58 62 26 80 30 22 330 414 F10 FO7 M10*16 | M8*13 1/4"
PR-125 326 155 125 175 67 75 27.5 80 30 22 392 497 F10 F10 M10%16 | M8*13 1/4"
PR-140 396 173 137 193 75 77 32 80 30 27 475 601 F12 F10 M12*20 | M10*16 1/4"
PR-160 457 198 158 218 87 87 34 80 30 27 553 700 F12 - M12%20 | M10*16 1/4"
PR-190 538 232 189 262 103 103 40 130 30 36 623 790 F14 - M16*24 - 1/4"
PR-210 568 257 210 287 13 13 40 130 30 36 662 851 F14 - M16*24 - 1/4"
PR-240 660 291 245 321 130 130 50 130 30 46 828 1000 F16 - M20*26 - 1/4"
PR-270 740 330 273 360 147 147 50 130 30 46 867 1119 F16 - M20*26 - 1/4"
PR-300 798 384 290 414 920 173 50 130 30 46 - - F16 - M20%26 - 172"

iE: -A120,A18043 3K 120° R 180° teRIGFAMATHMEKE.

2 O 4 ‘ Rack and pinion pneumatic actuator type PR





